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Togarthm. V. Vo-Dat
logV =(log
log Vo

log [Vo,V ,Lc],,
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Togarthm. V. Vo Daten
logV =(log1.+logL)/2 log:
log Vo = logV +0,02
l0g [ Vo, V., M, Lo]
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L {logCavion )2 log
Lo=logl +035  log
[Lo L

jarithm. L, Lo-Daten
L =(log " +log )2
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fogarithm. V. Vo Daten
logV =(log /1. +logLc)/2 log
log Vo = logV +0,01
iog [ Vo, V., Ve, Lo]
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TUB-Prufvorlage CGL8; Elementar-Farbensehen; Schwgﬂm,mo (links) und 0,10 (rechts), EO0
log[Empfindlichkeiten], Iln[leferenzen].MS R21:(545,557 570), (445,470 95), (420,470,520)
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